
取扱説明書

壁面取付プレート

MB-91

このたびは、本製品をお買い上げいただ
きまして、まことにありがとうございます。
本製品は、弊社製無線LAN製品を壁面

に固定するための専用プレートです。
ご使用の前に、この取扱説明書をよくお

読みいただき、大切に保管してくださいま
すようお願い申し上げます。

R警告

下記の記載事項は、これを無視
して誤った取り扱いをすると
｢使用者および周囲の人が、死
亡または重傷を負う可能性が想
定される内容｣を示しています。

◎強度の不足する場所には、設置しないでくだ
さい。
振動や風などの影響を受けて落下し、けがや
故障の原因になります。
◎人の通行をさまたげる場所には、設置しない
でください。
ユニットに接触してけがの原因になります。
◎送電線や配電線の近くには、設置しないでく
ださい。
ユニットのケーブルなどが接触して送電線や
配電線に触れ、ショートや発熱により感電や
火災の原因になります。
◎壁面内部に、電源コードやテレビアンテナケ
ーブル、水道およびガスの配管等が敷設され
ている場所には、設置しないでください。
ビスと敷設物が接触して傷つき、火災、感電
故障の原因になります。
◎雷が鳴り出したら、本製品やユニットには、
絶対にさわらないでください｡
感電事故の原因になります｡
◎指定以外の付属品、および別売品は使用しな
いでください。
火災、感電、故障の原因になります。

R注意

下記の記載事項は、これを無視
して誤った取り扱いをすると
「人が傷害を負う可能性が想定
される内容、および物的損害だ
けの発生が想定される内容」を
示しています。

◎プレートを加工したり、無理に曲げたり、ね
じったりしないでください。
プレートの強度が損なわれ、ユニットが落下
したりして、けがの原因になることがありま
す。
◎弊社指定以外のユニットやそれ以外の目的に
使用しないでください。
火災、けが、故障の原因となることがありま
す。
◎足場の不安定なところで、設置工事をしない
でください。
倒れたりして、けがの原因になることがあり
ます。
◎ぐらついた台の上や、湾曲したところなど、
不安定な場所にプレートを取り付けないでく
ださい。
落ちたり、倒れたりして火災、けが、故障の
原因となることがあります。
◎ひび割れた壁面や雨などがかかって腐食しや
すい木製の壁には取り付けないでください。
ユニットが落下したりして、けが、故障の原
因になることがあります。
◎近くに雷が発生したときは、屋外での設置作
業を行わないでください。
火災、感電の原因になることがあります。

※ユニットの取扱説明書に記載する『安全上のご注意』も併せてご覧ください。

■安全上のご注意

※同梱品や取り付けの手順については、裏面をご覧ください。

株式会社エクセリ(代理店届出番号C1909977)　東京都墨田区菊川3-17-2 アドン菊川ビル4F / 大阪府大阪市中央区久太郎町1-9-5　URL : https : //www.exseli.com/

https://www.exseli.com/details/3192/MB-91.html


本　　　　社　547ｰ0003  大阪市平野区加美南1ｰ1ｰ32�
北海道営業所　060ｰ0041  札幌市中央区大通東9 1ー4　　　　TEL 011ｰ251ｰ3888�
仙台営業所　983ｰ0857  仙台市宮城野区東十番丁54 1ー　TEL 022ｰ298ｰ6211�
東京営業所　130ｰ0021  東京都墨田区緑1ｰ22 1ー4　　　　　TEL 03ｰ5600ｰ0331�
名古屋営業所　466ｰ0015  名古屋市昭和区御器所通2ｰ24　TEL 052ｰ842ｰ2288

大阪営業所　547ｰ0004  大阪市平野区加美鞍作1ｰ6ｰ19　TEL 06ｰ6793ｰ0331�
広島営業所　733ｰ0842  広島市西区井口3 1ー 1ー             　　TEL 082ｰ501ｰ4321�
四国営業所　760ｰ0071  高松市藤塚町3 1ー9ｰ43　　　　　　TEL 087ｰ835ｰ3723�
九州営業所　815ｰ0032  福岡市南区塩原4ｰ5ｰ48　　　　　 TEL 092ｰ541ｰ0211

A-6138H-1G-q Printed in Japan
© 2001-2002 Icom Inc.

高品質がテーマです。�

1.ユニットのプレートをはずす

2.本製品をユニットに取り付ける

3.本製品を壁面に固定する

4.ユニットを壁面に固定する

プレートを固定するビス(4本)をはずします。

はずしたビス(4本)で[ユニットプレート]を
ユニットに固定します。

壁面などに、[壁面プレート]をユニットに付
属するタッピンネジ(4本)で固定します。

ユニットを掛けて、付属の[ビス(M3×6)]で
固定します。

ユニット固定用ビス穴�

ユニット�

ビス(付属品)

壁面プレート�

プレートの向きに
注意して取り付け
てください。�

タッピンネジ�
(ユニットに付属)

固定用プレート�

ユニット�

ユニットプレート�

ユニット固定用ビス穴�

ユニット�

プレートの向きに
注意して取り付け
てください。�

■標準構成品について

本製品には、下記のものを同梱しています。

壁面プレート�
ユニットプレート�

ビス�
(M3×6)

※取り付けの前に、表面の｢■安全上のご注意｣をご覧ください。

株式会社エクセリ(代理店届出番号C1909977)　東京都墨田区菊川3-17-2 アドン菊川ビル4F / 大阪府大阪市中央区久太郎町1-9-5　URL : https : //www.exseli.com/



READ the SAFETY PRECAUTIONS in
your LAN unit instruction manual simul-
taneously.

R DANGER! NEVER install in places
where the foundation is unstable. This
may cause the person installing the unit to
fall causing death or serious injury.

R WARNING! NEVER install to a place
that has insufficient structural strength.
Vibration or wind may cause the LAN unit
to fall, causing damage and personal
injury.

R WARNING! NEVER install in any areas
where people can accidentally hit the unit
with their body. 

R WARNING! NEVER install to near
power lines. This may pose a fire hazard
or result in an electrical shock due to over
heating or short-circuiting.

R WARNING! SUSPEND installation
immediately when thunder occurs or can
be heard in the distance.

CAUTION! NEVER install on an unstable
foundation or a curved surface. The LAN
unit may fall, causing damage and per-
sonal injury.

CAUTION! NEVER install on a cracked
wall, or a wooden wall easily decayed by
rain. The LAN unit may fall, causing dam-
age and personal injury.

CAUTION! DO NOT modify, bend by force
or twist the plates. 

MAKE SURE NO electric wiring, gas and
water pipes are running inside the wall.

USE the supplied accessories, or the
specified options only.

For use with specified Icom products only.

� Supplied accessories
The following accessories are supplied with
the MB-91.

Qty.
• Mounting base plate …………………… 1
• Mounting plate…………………………… 1
• Screw (M3×6) …………………………… 1

Mounting base
plate

Mounting plate

Screw
(M3×6)

INSTRUCTIONS

MOUNTING BRACKET

MB-91

Thank you for purchasing the MB-91
MOUNTING BRACKET. The MB-91 is a plate
for mounting an Icom wireless LAN unit to
a wall. 

Please read these instructions thoroughly
before mounting a wireless LAN unit with
the MB-91.

CAUTION

1-1-32 Kamiminami, Hirano-ku, Osaka 547-0003 Japan
A-6138H-2EX    Printed in Japan

© 2002 Icom Inc.

Icom, Icom Inc. and are registered trademarks of Icom Incorporated (Japan) in the United States, United
Kingdom, Germany, France, Spain, Russia and/or other countries.

� Installation
q Unscrew the 4 screws from the original

mounting plate, then remove the plate.

w Attach the mounting plate using the orig-
inal 4 screws in step q.

e Install the mounting base plate onto the
desired flat surface, such as a wall, using
the self-tapping screws supplied with the
wireless LAN unit.

r Attach the wireless LAN unit to the
mounting bracket, then fix the unit with
the supplied screw (M3×6).

Wireless LAN unit

Supplied screw (M3×6)

Self-tapping screws (supplied with the LAN unit)

Mounting
base plate

Screw hole 
for fixing to
the unit

Check the 
mounting base 
plate orientation 
and the screw 
hole’s position.

Screw hole for fixing to the unit

Wireless LAN unit
Mounting plate

Check the 
mounting plate 
orientation and 
the screw hole’s 
position.

Original mounting plate

Wireless LAN unit

MB-91_ENG.qxd  02.10.9 10:23  Page 1

株式会社エクセリ(代理店届出番号C1909977)　東京都墨田区菊川3-17-2 アドン菊川ビル4F / 大阪府大阪市中央区久太郎町1-9-5　URL : https : //www.exseli.com/



READ the SAFETY PRECAUTIONS in
your LAN unit instruction manual simul-
taneously.

R DANGER! NEVER install in places
where the foundation is unstable. This
may cause the person installing the unit to
fall causing death or serious injury.

R WARNING! NEVER install to a place
that has insufficient structural strength.
Vibration or wind may cause the LAN unit
to fall, causing damage and personal
injury.

R WARNING! NEVER install in any areas
where people can accidentally hit the unit
with their body. 

R WARNING! NEVER install to near
power lines. This may pose a fire hazard
or result in an electrical shock due to over
heating or short-circuiting.

R WARNING! SUSPEND installation
immediately when thunder occurs or can
be heard in the distance.

CAUTION! NEVER install on an unstable
foundation or a curved surface. The LAN
unit may fall, causing damage and per-
sonal injury.

CAUTION! NEVER install on a cracked
wall, or a wooden wall easily decayed by
rain. The LAN unit may fall, causing dam-
age and personal injury.

CAUTION! DO NOT modify, bend by force
or twist the plates. 

MAKE SURE NO electric wiring, gas and
water pipes are running inside the wall.

USE the supplied accessories, or the
specified options only.

For use with specified Icom products only.

� Supplied accessories
The following accessories are supplied with
the MB-91.

Qty.
• Mounting base plate …………………… 1
• Mounting plate…………………………… 1
• Screw (M3×6) …………………………… 1

Mounting base
plate

Mounting plate

Screw
(M3×6)

INSTRUCTIONS

MOUNTING BRACKET

MB-91

Thank you for purchasing the MB-91
MOUNTING BRACKET. The MB-91 is a plate
for mounting an Icom wireless LAN unit to
a wall. 

Please read these instructions thoroughly
before mounting a wireless LAN unit with
the MB-91.

CAUTION

1-1-32 Kamiminami, Hirano-ku, Osaka 547-0003 Japan
A-6138H-2EX    Printed in Japan

© 2002 Icom Inc.

Icom, Icom Inc. and are registered trademarks of Icom Incorporated (Japan) in the United States, United
Kingdom, Germany, France, Spain, Russia and/or other countries.

� Installation
q Unscrew the 4 screws from the original

mounting plate, then remove the plate.

w Attach the mounting plate using the orig-
inal 4 screws in step q.

e Install the mounting base plate onto the
desired flat surface, such as a wall, using
the self-tapping screws supplied with the
wireless LAN unit.

r Attach the wireless LAN unit to the
mounting bracket, then fix the unit with
the supplied screw (M3×6).

Wireless LAN unit

Supplied screw (M3×6)

Self-tapping screws (supplied with the LAN unit)

Mounting
base plate

Screw hole 
for fixing to
the unit

Check the 
mounting base 
plate orientation 
and the screw 
hole’s position.

Screw hole for fixing to the unit

Wireless LAN unit
Mounting plate

Check the 
mounting plate 
orientation and 
the screw hole’s 
position.

Original mounting plate

Wireless LAN unit

MB-91_ENG.qxd  02.10.9 10:23  Page 1

株式会社エクセリ(代理店届出番号C1909977)　東京都墨田区菊川3-17-2 アドン菊川ビル4F / 大阪府大阪市中央区久太郎町1-9-5　URL : https : //www.exseli.com/




